50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

17CS/1S34

emester B.E. Degree Exammat&ion, Feb./Mar.2022

Computer Organization
; P Max. Marks: 100

kai%[odule-l
Explain the basic operational co céﬁgis of a computer, with-a neat ‘block diagram. (08 Marks)
Explain basic input/output op@&aﬁons and write a program snippet to read a character and
print it on screen till newline 1ss£ncountered (08 Marks)
A program contains 1000 iistructions, out of that 25%Mmstruct10ns requires 4 clock cycles,
40% instructions requlrgni clock cycles and remaining requlres 3 clock cycles for execution.

Find the total tlme reqinred to execute the program running in a 1 GHz machine. (04 Marks)

\Hﬁ

44444

each, (i) . Indgrect mode (1) Index ‘mode
iii) iV)e Auto increment mode. (08 Marks)

] /ith examples. (08 Marks)

Explam Big-Endian and Little- Emhan method of byte a essing with an example.
o (04 Marks)

Gy e Module-2-.
Explain the working 0;1’ the ‘Direct Memory. Access (DMA) controﬁer in detail. Also, with
the supporting diagram, éxplain dlfferentm%@ @ers ina DMA L@teﬁ'ace (08 Marks)
Explain centralized and distributed BUS' Arbitration, with dxagrams (08 Marks)
Explain how intertupt requests from several input/output dev;ces can be communicated to a
processor usmg Daisy Chain Mechamsﬁ‘i / (04 Marks)
AN, OR v

Using the . Timing diagram eﬁan *mput Data Transfer and the Handshake scheme, explain the
input gperation on an asynchronous BUS. (08 Marks)

Draw the block diagram:ofuniversal seria US structure connected to the host computer.

. rleﬂy explain all ﬁeld of packets that arewused for communication between a host and a

(08 Marks)

(04 Marks)
(06 Marks)

Assume a disk unit hasﬁ 24 recording surfaces. It has a total of 14,000 cylinders. There is an
average of 400 sectors per track. Each sector contains 512 bytes of data.

(i)  What issthe maximum number of bytes that can be stored in this unit?

(i) What- e data transfer rate in bytes per second at a rotational speed of
7200:xpm?

(iii) Using a 32-bit word, suggest a suitable scheme for specifying the disk address,

assummg that there are 512 bytes per sector. (06 Marks)
# 1of2
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OR
With a block diagram, explain the direct and set assema‘ mapping between cache and
main memory. (08 Marks)
Draw a neat diagram of memory hierarchy in contemp@rary computer system. Also indicate
relative variation of size, speed and cost per bit ifi the hierarchy. (06 Marks)
Explain with a block diagram, how the transla’e on+look aside buffer is used in implementing

virtual memory. (06 Marks)
Explain the design of a four-bit carry. look ahead adder. p (06 Marks)
Explain Booth’s algorithm. Multiply using Booth’s multiplication for the given

Multiplicand: 0101101 and Multlpher 0011110,~7% (06 Marks)

Design sequential circuit binary. “multlpher with a neat block diagram. Realize the above

circuit for binary multiplier to @ﬁlculate +13x+11. & (08 Marks)
OR -y

Solve using restoring division for the given

Dividend : 1000 and Divisor : 00011. Also, write the algorithm steps. (08 Marks)

Using carry-save ‘addition of Summands wﬂ(@@%) for 4-bit operands. Perform multiplication

between 45 and 63. (08 Marks)

Show aWexplam the IEEE floating, pomt representation for 32-bit (single precision)

(04 Marks)

steps to execute the mstruﬁ:lgp ADD Ry, Ry, Ry, 4 (08 Marks)
Analyze the multiple bus archxtecture with a neafi dlagram and erte the sequence of control
steps to execute the instruction ADD Ry, Rz, (08 Marks)
List the remote ﬁmctmnahty of home telemeﬁ@y system. 4 N (04 Marks)

% 4
"

Discuss the followmg in detail:
(1) NUMA processor

Y2
50 US4

P

(11)’% _“UMA processor;™ (08 Marks)
With'a.neat diagram, explg%the working of a dggltal camera. (08 Marks)
Compare Hardwired cotitrolunit with mlcr%@%ogrammed control unit. (04 Marks)
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